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Part A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each
sentence. Then mark the correct choice on your answer sheet.

1- He is a woman of - who has never abandoned his principles for the sake of making
money.
1) utility 2) integrity 3) treaty 4) acrimony

2- The loud sound of the radiator as it released steam became an increasingly annoying
1) interval 2) perception 3) zenith 4) distraction

3- Jackson’s poor typing skills were a ---—-- to finding employment at the nearby office
complex.
1) hindrance 2) supplement 3) confirmation 4) versatility

4- The judge dismissed the extraneous evidence because it was not -—-------- to the trial.
1) obedient 2) treacherous 3) pertinent 4) vulnerable

5- Because biology is such a ---------- subject, it is subdivided into separate branches for
convenience of study.
1) deficient 2) consistent 3) broad 4) mutual

6- In addition, physicians may have difficulty in deciding that an illness can be ----------
the job. Many industrial diseases mimic sickness from other causes.

1) attributed to 2) precluded from 3) refrained from 4) exposed to

7- Mechanics was one of the most highly developed sciences ---------- in the Middle Ages.
1) extracted 2) persisted 3) resolved 4) pursued

8- In the absence of death from other causes, all members of a population may exist in
their environment until the ---------- of senescence, which will cause a decline in the
ability of individuals to survive.
1) ratio 2) onset 3) core 4) output

9- Before the invention and diffusion of writing, translation was ----——--- and oral; persons
professionally specializing in such work were called interpreters.
1) subsequent 2) unilateral 3) eventual 4) instantaneous

10-Public attitudes toward business regulation are somewhat ---------- ; most people resent

intrusive government rules, yet they expect government to prevent businesses from
defrauding or endangering them.
1) cogent 2) emotional 3) ambiguous 4) indifferent

Part B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

The variety of successful dietary strategies (11) --=mmmnnn- by traditionally living populations
provides an important perspective on the ongoing debate about how high-protein, low-
carbohydrate regimens such as the Atkins diet compare with (12) =--e-e--- underscore complex
carbohydrates and fat restriction. The fact that both these schemes produce weight loss is not
surprising, (13) -=--m-ue-- both help people shed pounds through the same basic mechanism:
(14) ~----emmv major sources of calories. When you create an energy deficit —that is, when you
consume fewer calories (15) ----=----- —your body begins burning its fat stores and you lose
weight.

11- 1) employed 2) are employed 3) is employed 4) then employed

12- 1) those that 2) the ones they 3) that which 4) they

13- 1) in fact 2) although 3) likewise 4) because

14- 1) limit 2) limiting 3) which limit 4) with limiting

15- 1) are expended 2) that they are expended

3) than you expend 4) to expend
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PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

16-

17-

20-

Passage 1:

Not only does the air in a mill have to be maintained at an rh best suited to the particular task, but it
has to be clean. In many regions of the world, air quality in mills is quite stringently monitored. There
are regulations in many countries mandating maximum levels of particulate matter in the air in the
opening and carding areas. Such filtration is especially important in cotton spinning because of the
incidence of byssinosis (an allergic lung disease) in some workers. Even if automation is used to
minimize the amount of human exposure, the regulations still apply. In other forms of processing,
noxious chemicals can be given off and the climate has to be controlled there too. A further important
reason for attention to cleanliness is the fire risk. Some airborne fibers and dust arc flammable; fire and
explosion risks are severe. Enclosed, spark-free motors have to be used and a number of fire hazards
are outlawed. Special fire-fighting arrangements must be provided and most local authorities have a
Fire Code, which requires compliance. Lint and harmful dust have to be removed from the return air.
Where the concentrations of dust and fly are high, such as in the returns from the carding and opening
areas, cyclone separators are used to extract the heavier fraction of waste. Most of the remaining dirt is
removed by electrostatic precipitators, fabric filters or the like. The air is usually washed as well.

One important concern is the maintenance of the atmosphere within the comfort zone of the operatives,
especially if maximum performance is expected. Another concern arises about the level of fibers in the
air (fly) because it can and does cause defects in the yarn produced. An accumulation of fly landing on
the yarn being made in a ring frame obviously creates a blemish. Not so obvious is the result of fly on
other products. For example, fly landing on roving during manufacture is often thrown off again
during spinning. only to land on the yamn. A good spinner keeps an eye open for the sources of
fly production and tries to eliminate them.

The word ""blemish' means:

1) Air dust 2) Defect 3) Fly landing 4) Filter

According to the Passage, In order to control and minimize the risks of fire and explosion
in fiber processing:

1) Enclosed spark — free motors have to be used and a number of fire hazards are outlawed

2) the dirt has to be removed by electrostatic precipitators.

3) the maintenance of the atmosphere within the comfort zone of the operatives has to be
observed.

4) fire — fighting arrangements must be provided and cyclone separators have to be used.
According to the Passage: Air filtration is especially important in cotton spinning because
of:

1) electrostatic static problems in cotton processing.

2) fly landing on the cotton yarns.

3) the fire and explosion risks.

4) the incidence of byssinosis in some workers

Choose the appropriate title to cover the content the text:

1) Air condition control 2) Dust control

3) Fly control 4) Fiber particle control

According to the text: cyclone separators are used to extract the ---------- where the
concentrarions of dust and fly are high.

1) airborne fibers and dust 2) remaining dirt

3) heavier fraction of waste 4) noxious chemical wastes
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Passage 2

Although the manufacture of sewing threads does not necessarily involve new technology, it
does have special requirements for the yarn structure. Sewing threads are often plied to give
strength and uniformity to the product; they are often made from cotton, but special threads of
linen and silk are also produced. Yarn hairiness has to be controlled to reduce the fly build-ups
around the sewing needle area. To give the desired strength and smoothness, cotton threads are
often singed and then mercerized. The latter is a process that swells the cotton fibers with
caustic soda and stretches them to improve molecular orientation. This. together with the high
twists used, makes them rather expensive. One of the reasons for using cotton is that it does not
melt. With the ever-increasing speeds of sewing machines, needle melts can be a problem with
many of the man-made yarns, especially with certain stitch constructions. Thus. a source of
high tensile threads is denied to some garment makers unless special needle cooling
arrangements are installed. There are some special man-made fibers, such as Nomex. a heat
resistant aramid fiber, but they are costly and this is not a universal solution to the problem.
Other solutions include the use of a man-made filament core, sheathed with natural fibers to
protect it and to give the desired aesthetics. In all cases, waxing of the yarns is essential. The
wax must be sufficient to give lubrication, even at the elevated local temperatures in the needle
eye. However, the quantity must not be so much as to cause clogging of the guides and needle
eye. Problems can also come from differences between the yarn and fabric in the matters of
clongation, tension differences, and dyeability, If the thread contracts more than the fabric
being joined. the scams pucker. If the dye affinity of the thread differs from the fabric, it
becomes visible.

The word "clogging" means:

1) to become blocked 2) to become lubricated

3) to become elongated 4) to become contracted

The seam puckering problem can accur if -------e—--- .

1) The fly build-ups around the sewing needle area.

2) The thread melts in the needle eye.

3) The thread contracts more than the fabric being joined.

4) The dye affinity of the thread differs from the fabric.

Choose the appropriate answer: "The sewing threads are made from core — spun yarns in
which -----eee- "

1) a man — made filament core, sheathed with a high resistant aramid fibers to give the desired
aesthetics properties.

2) cotton fibers sheathed with man- made filament to give the desired aesthetics properties.

3) cotton fibers as the core, covered with man- made filament to give the desired strength.

4) a man- made filament core, covered with natural fibers to give the desired aesthetics
properties

Sewing threads are often made from cotton because of its high --------- .

1) tensile strength 2) heat resistance 3) tensile elongation  4) uniformity
According to the Passage: the ----------- is a process that swells the cotton fibers with
caustic soda and stretches them to improve molecular orientation.

1) singing 2) heat treatment 3) mercerization 4) waxing



26-

27-

29-

30-

o of w5 Qp}TMG«jM ) g S g0

O daxdno 329C L;»AM 9 PP ub)

Passage 3:

Technological investment is a key driver of innovation and the evaluation of technology
potential is becoming increasingly important in this context. There is a range of approaches and
tools for developing an understanding of the value of technology. However the process of
communicating this potential to possible customers is not well documented in terms of theory
and practice and falls outside the skill set of many technologists. This paper seeks to integrate
the concepts of marketing and consultative selling into making business cases for new
technologies. It describes an exploratory study which results in an outline process activity
model for technologists wishing to build an effective business case for securing investment
internally or when selling a technology externally. There is a potential to learn from market
research and consultative sales techniques, and propose a five step process. The work has been
industrially validated and forms a novel foundation for further development. The contribution
to theory is an explicit linking of technology and engineering management to the consultative
sales literature to provide a preliminary process for intangible technology sales. The
implications for the research are that the process activity model should be further examined to
provide greater insight into the effective communication of technology potential. This model is
the first that links a number of theoretical streams with promising validation.

What is the key factor in evaluation of technology potentioal?

1) effective business 2) engineering management

3) the process of communication 4) technological investment

According to this Passage:

1) communicating of value of technology to possible consumers is not well documented in
terms of theory and practice.

2) Value of technology needs linking of technology and engineering management.

3) Development of a model is necessary in technological investment.

4) Integration of the concepts of marketing and consultative selling is necessary

The word "intangible' refers to:

1) consultative selling 2) effective communication of technology
3) value of technology sales. 4) indefinable technology sales

Which sentence is correct? This work ---------

1) aims at integration of the concepts of marketing and consultative selling into making
business cases for new technologies.

2) has not been validated in industrial section.

3) secks to propose a five step process.

4) provides a greater insight into the effective communication of technology potential.
Which title is the best one for this work?

1) effective communication of technology and technological investment

2) sales and marketing evaluation.

3) the process of making the business case for technology.

4) Making business case for industry
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